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SPACE FOR ROUGH WORK
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If van der Waal’s constant a = 3.67 atm litre> b =40.8 ml mol™. Find critical pressure

(A) 0.817atm (B) 8.17 atm
(C) 81.7 atm : : (D) 81.9 atm

QuTETLIT eumédav wrdledl a = 3.67 atm litre™ womb b=40.8 ml mol™! arefie Sigen Hlenaommy
A(WPSB5D55 sansd ()6,

(A) 0.817 atm (B) 8.17 atm

(w” 81.7 atm (D) 81.9 atm

The value of critical constant 7 is

8a 8
(Al 27Rb (B) 27Rb
8a 8a
e D)
© 27R 2 27b

Hlenewmyy wrhled Te -6 iy

8a 8
@) 27Rb ) (B) 27Rb

8a 8a
©) 7R (D) 27

The average kinetic energy is

(A)/PV=%E ®) PV=—§—E
(C) PV =nRT (D) PV =RT
aqnafl Quss pHme
A) PV=§E " ®) PV=%E
(C) PV =nRT _ (D) PV =RT
3 LACH/19
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4. How many molecules are present in 0.2 g of hydrogen?

(A) - 6.023 x 102 ' _(B)' 6.023 x 1022

(C) 3.0125x10% . D) 0.0125 x 1022

0.2 & evaplrafld assmen upoE saaEsT 2 deren?

(A)  6.023x10%" (B) 6.023x10%
(© 3.0125x10% - (D) 0.0125 x10%
5 A system in which no thermal ehergy passes into or out of the system is called

(A), adiabatig system B) ~ anopen system

. {C) aclosed system ' (D) areversible system -
- ghpena sienining LG?TGG]TH.]IB-QQJGﬂGUJH.[Lb SLHSMS +—-—-—=91émmu|_]
(A)  Qasduwmpr siewin (B) Apis senoly
© apyw sy o . (D) iBignid srenoly

_ 6 Common salt is . _

@ N1 ® Zos
© TiO, D) K,0

SMSmrenT £ UL srsﬁug
4 NaCl - a (B) ZnS
(C) TiO, (D) K0

LACH/19 - 4



The radius ratio in an ionic crystal lies between 0.732 — 1.000, the coordination number is

@A 3 | (B)

6 ' P ¥

© 4 i oo 8

0.732 — 1.000-5@ @ Cw 2_arer Sjwefl LiyssHear 27 Slflgd

@A 3 (B)
©) 4 Sl (D)
NaCl is an example of

(A) Covalent solid {

(C) Metallic solid (D)

NaCl 2 gryewrons jenineaig)
(A) essleeniy Serrow (B)

(C) 2Canrss Samow (D)

The Fragg’s equation for diffraction of X-ray is

(A) ni=2d%sin6 (B)

aaf nA = 2dsin 6 ' (D)

X @i Grduduysarar Gy soeun®

(A) ni=2d%siné (B)
(C) nA=2dsin@ (D)

6
8

Tonic solid

Molecular solid

Swreflé SHewTion

epv&sam SHeRTol

nA = 2dsin® @
nA =dsin 6
ni = 2dsin® @
nA=dsin 0

LACH/19
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10. | Which is not correct?
(4) H=E+PV
(©) H-E=PV

g sflwner QuTmESD Qoo
(A H=E+PV
(© H-E=PV

11. The atandard heat formatzon of H,O (l) 18

v( —63.38 keal mol™!

-22 os keal mol™! -1

Hz0 () -én fepavwinan 2 meungd Qeutub
_(A) —63.38 keal mol” '

. (C) ~22.08 kcal mol"!

(B)
(D)

" (B)

(D)

(B)
[13))

H_E-PV-0
H=E-PV

71,00 keal mol™!

-57.84 keal mol™?

~71.00 keal mol™!

—57.84 keal mol™!

12_- The process depicted by the equation H,S —  H,0 (I} AH = 1.43 kcal .

(A)  melting
(C) Dboiling

(B)

evaporation

« fusion

H,S —— H,0 (1) AH = 1.43 keal @asinain®) carb@bd awidapan

A) e opose
(C) Qarfsse

LACH/19
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13.

14.

15.

The power to which the concentration of a substance appears in the rate expression is known
as

(A) _ Rate of reaction (B) Molecularity of reaction

Order of reaction (D) Rate constant of reaction

efameanGeus ellFufen o_arer QeMleysaflen saBBed eremig

(A) eeaenCGeusid (B) aSewaulen epevdgamy
(C)  eenemcuens (D) Ceuswried

1

The rate of a first order reaction is 1.8 x 10”2 mole " min~'. When the initial concentration is

0.3 mole litre™} . The rate constant in the units of second is

@) 1x102 8 @ 1x10% s

(©) . 8x107%'87! S EED) 6167 S

s s efleearnan elemeanGeus wmhledl 1.8 x 107 Guorae® i aﬁlmrnq.ul. g QFT_&8
Hlevew QsMley 0.3 Comed S L. cflenarGeus wrHlefluflern i@ Qpmgsafie

(A) 1x1072 Gp_’;mq._i ®B) 1x10™* Q;g‘,mq.-1
(C) 6x102 Qpmg (D) 6x10° Qpmg

"_‘”:_z_z(_)_z_] represents i

(A) Rate of formation of Hy,O, \J Rate of decomposition of H;0,

(C)  Order of reaction (D) Half life

-d |Hy,0 . .

% aangs GHEADE

(A) eaplyger Quit E@EH 2-(HUTHD (B) amanlrger Quidms® Aagsse

(C) Awar cuens D) 7 puyer

o7t LACH/19
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16. A reaction follows the following equation for the rate constant it indicates that the reaction

is? K _2:308 log g_.

14 o-X _ :
(A) Second order ' ( First order
(C) Third order (D) Zeroorder

&Cyp Qan@éssu Gaer Couflciaen wrdldhl@en swauI® s s daaég 2 fug

K= 2.303 log a

- ¢ a-x
(A) Quenmbdauems i (B) o ums
©€) opepmbeuens ‘ D) ygubums

17.  The difference in the potential energy between the reactants and the activated complex is
Activation energy (B) Free energy
(C) Threshold energy | (D) Potential energy

sleoauPEunpEegh daiyBow Corogddew G Cu o drer e oS

(A) Serrey Aanér sy Hpd B) s yoeryHpe

© sopppucsaipd D) Pacura oo
18.  Decomposition of H,0, takes place in presence —— gatalyst.

& Ni | e »

€ Pd D) Ag

@apl gger AUt HEosD Hopsisase uuaLPb Afurgyss
@) Ni | | ® Pt
€ Pd _ : D) Ag

LACH/19 . g 8- _ »




19. The Ostwald’s dilution law when applied to a binary electrolyte gives the expression
(a is degree of dissociation). '

a 2 a
w Kcﬂm (B) Kc_m
f 2 2
O K S Treo i =
£ ‘¢ fl-a)V? A D (l-afVv

geveurel  Bissw Qsmatens @Qple Weau@el g uvweau@sgd Curg g swearuT(H
(a eemug) 9fems eigb) '
2

A Ko i ; B) K =hd -
@ ¢ (1-a)V : ® K 1-a)V
2 2
C ) Fo N AR s D) o s e
) B (1—a)V2 _ ©) § (1~a)2V
20. The emf of the standard hydrogen electrode is ———————— volts.
N 0 ® 1
© 2 D) 3
L eanl_yemen Wemeumuier emf ——— GeumedL-
@ o : B 1
<o 2 D) 3

21. In the cell Zn I TnZh

Cu | Cu®* positive electrode is

Cu @B Cu=
C) Zn (D) Zn*
Zn I Zn** | Cu | Cu** @is Varssdo Cribaneumi ag?
@A Cu =3 S(B) " Cut
(€) Zn : (D) Zn*
» , 9 LACH/19
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- 22, For a basic buffér, the Henderson équat.ion is

. [satt] : o [salt]
(&) pkb + log = [b e] | (B) pOH= pkb log [b se]
. . ) ¢ [salt : t
\l pOH = pky, + log IL;%S;]] ® pH= pkh +log [[ias{]:]
STTSSIRIED qu&gésnaﬂ Qapernirsen swHLTH ,
&)  pH = pky + log =L - ® - pOH pk, - log o2l
N o [ Ty}

fe-cul @)  pH = pk, + log 20 o,

" OH = bk + 1o
(C) .pOH pb+og[mm.°] —

23.  The pH of 0.1 M NaOH solution will be
@ 1 ' ®) o.1

vwf 13 D 4

0.1 M Gomyuwid sogmt qrésers® seyoadien pH erénig)
@ 1 | - ® 0.1
© 13 | . ®) 14

24.  The equivalent conductance at 18° of normal solﬁtion-of_ KCl is 98.2 and for infinite dilution
at the same temperature 131. The degree of dissociation of KCl at this dilution is

v 075 o | ®) - 0.50
C) 045 '. D) 0.80

sngmyes QuiLLrfub Glamar® smysdier swram s gmfper 18°Céd 98.2 whppgb £Cs Qautiu
Bevailsd syaraildar figssd 131. Qbs fidseld QumiLrdhub gCameagydr Gfams aigbd -

A 0.75 : B 050

(©) 045 . (D) .0.80

LACHN9 | 10 - . »



25. According to Arrhenius theory an electrolyte when dissolved in water disassociate to

\A charged particles . ~ (B) molecules

(C) ion pairs (D) fundamental particles

<jrafeflwen Qanaransudern g Weu@ef apadsamsmer Bile seamrsen Curg GWfbg Qar®LLS

A) = swefl giserser (B) apossamser
©) wefll SeoamTuysser (D)  eiglueLwrer gseTseT
26. Which region of electromagnetic radiation brings change in only rotational energy levels?
S @A) IR ' vf Microwave 1

(©). UV (D) Radio frequency

WOlenasnbs lemaudlen arhs Sienabeard swnd Hipwraaeamw GarH&EEWw?

A) @ssfleuy = (B) wsCrm emevser
©) ypeasgr D) Crglwnr st

27.  What is the selection rule for rotational spectrum of linear molecule?
A AJ=12 B) AJ=0

Mo i1 @) AJ=0,42

Cryren ppa&annisEhsa sl Hipwrame Gar@lugnsarer Caie| el ereren?
A AJ=12 B) AJ=0
©) AJ==£1 D) AJ=0,%+2

» 1 ' LACH/19
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28. Find the reference material used in NMR spectroscopy

W TMS _ I () KBr
(C) DPPH (D) Nicol

NMR - LwaniBsgib GupGands Quagsdr eramen?
@A) T™S | ® KBr
(C) DPPH (D) Nicol

29.  Source of NMR spectrum is
" (A) Microwave . (B) IR region

(C) y-rays | J Radio frequency

NMR # ;ﬁmrrmg) Clummgsﬁ)s&m e erg?

(A pews@me : B - yp exmgn
(C) asmor oo ' D) CyuCunr e

30. Find 6ut NMR active nucleus. ) _
(&) £C* o . B 40

W N1 | - ©) ,He*

NMR @pwreaweain Qanpigih Sgnssmaa san®lly.
( A) 6 C'l 2.' . ‘ (B) 3016

© ,NM , @) ,He!

LACH/19 .. - '» 12



31.

32.

33.

If a nucleus does not spin, then its spin quantum number is

@ 1 v® o

© 2 D) 1.5

P 2L EMUSE s10HE QDM@ TEDTD DSET HLPHS GEUTERTLLD CTGRT cTeman?
()l B) 0
© 2 D) 15

The IR stretching frequency of carbonyl group is at

(A) 2500 cm™ (B) 300 —400 cm™

gef 1825 — 1575 cm™! (D) 600 cm™!

2iss8leuiy fipwreeuiler sriuamard Agr@gduder GLib erg)?
(A) 2500 cm™ s (B) 300-400 cm™

(C) 1825-1575 cm™* (D) 600 cm™

The magnetic field corresponding to 60 MHz in NMR spectrometer is

\'() 14T | ®B) 25T

(C) 45T (D) 60T

60 MHz =iflite) eramrgnis@ Hlagmear smhal Lo aflens eremen?
(A) 14T B). 25T
© 45T D) 60T

13

LACH/19
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34. . Give example for disinfectant drug.

. M 1% Phenol solution

(C) 1% Benzoic acid solution

®)

S prélafuie LueTLBLb Gampae oig? o

(A) 1% Qeme sy

(C) 1% Quensrulier oy fleib

35.  Disinfectant used for domestic and hospital use is

} Chloroi

Lysol
(C) Salicylol

®)

B)
(D)

(B)
(D)

1% NaCl solution

1% Clﬂoroform solution

1% G&rnq.u_u.b'@@‘mrrdm@

1% @Gmn@un.'.unfrm '

Chloramine

SHsaligid, bEsgeLaasaignd LLGEULRSSIL aﬂl@uﬂ gnﬁéﬂuﬂér Quuwit eréren?

A wwsTd

(©) ° sralflame

36. Whichi inorganic gas is used as anesthetics?

« N,O

© No

WSS LOHHSTS LIusem (D Seflio eumy ergy?

@ N0
(© NO
. LACH/19

.14

(B)
D)

®)
(D)

®

)

GSammgre

&Carpdlen

NO,
N204

NO,

N0,



- 37

38.

- 39.

Which element has the highest first ionization energy?
(4 Li ' (B) CS

© cl . ' o g Ar

ahs st DFE s alu.laﬂu.u;e%(e_r,Lb Oper Gunmg?
(A L _ ®) Cs
© d . D) A

A cation M* has higher electronegativity than its parent atom M. Why?

(A) Cations are larger in size than their parent atom
(B) Atoms repulse electrons

ﬁ Cations are smaller in size t,han their parent atom

(D) Atoms attracts electrons

Gpmdet siweflufier (M* ) crasigrer saui Siper oigen srl signt (M) g oL sifawor@h. sTyemd?
(A) GCprden owelt Sigen sm igmieneu el jaralld Quilug ‘

B) i@ aesLTeM gEEGD

(C) Gpmiar swefl sigehn smis sigpee el siaralley Afluig

D) g s grenen Geuayib

Arrange the following elements in increasing order of atomic number and mention the name
of the group. Si, Pb, Sn, Ge, C.

(A) Ge, 8i, C, Sn, Pb — Germanium group
B) 85i, Ge, 8n, C, Pb— Silicon group

# C,Si, Ge, Sn, Pb— Carbon group

(D) Sn, 8i, C, Ge, Pb — Tin group

Semaummd SeflmiEmar igm e auflensuiie Sru@ss. e a5 Gg_rr@,ﬂm.u_té Caipgenay eran
sms. Si, Pb, Sn, Ge, C. ' '
(A) Ge, Si, C, Sn, Pb — Ggronafiwd Agred
(B)  Si, Ge, Sn, C, Pb — fllsaer Gprad

(C) C,8i, Ge, Sn, Pb — ariuen Qgr@d

(D)  Sn, 8i, C, Ge, Pb — yex Qpn@d

15 - LACH/NY
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40.  Which element has the smallest radius?
@ P S ® M

v a N @ si

TS SO GOPHS 7> CETam g2
@) P - - ® Mg
<€ Al D) Si

41.  Pick out the actinide. _ _
@ T . ® T

© Mo - - | v U
Qbgoad gérenp Caindsdis
A T _ | . ® T

© Mo | ® U

42. The shape of CH = CH, according to VSEPR theory is

.« Linear _ (B) Tetrahedral
(C)  Pyramidal (D) Octahedral

VSEPR efifiaaflénuy. CH = CH, gpoémdler ageud wrg? |

A  Sefiwi | ®) Guigradgé

©  Gplie | D) sy radiye

~ LACH/19 - 16



43,

44,

45.

BN reacts with

(A) ~ Na,CO,
(C) NaCl
BN

(A) Na,yCO,4
(C) . NaCl
BN is having
(A) Low

(C) . Medium .
BN

A)  @onbs

(C)  pOFwewren

B—N bond is

to give sodium borate?

: W NaOH

(D) NaH
2 L e eflenanfibg Cemguwid CunCrienL s Qa;rr@é;ﬁgngu?

- (B) NaOH
(D) NaH

-

hardness. - :
'd High
(D) Zero .
: a;@g’,gs&rmm Q&mrarLg). :
(B) Ia{@Iaa
D) -yiwib

hybridization of B and N atoms.
W o

D) sp’d

@A) sp?
©) sp

BN Qaenriiy,
Aa) 'sp®

(© sp

B) sp%

(D) sp’d

17

arengyb @earrindenemruGanme B whmiw N @eenibg o meurang

. LACH/19
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46., Which is inorganic benzene?

j N .: (A). Boron nitride o o (B) Boron. (_:hloridé
o (C) Diborane . N Borazine
il @LJGST#G&T? o .
(&) Gurgnen epLes( (B Cunyren gReTaI®
(©) o GurCren - (D) Gungrersan

| 47. By Stock and Pohland method, what are the-reactant used to prepare Borazme" '
— (A.) B,H; & N, - _ MBsz & NHa | .
© BH &NH; - . © BH, &N,
| Gb9é — G @mbc&]s&r apaid Gumyflen gunfléss Ceaanuian aﬂsmm.@un@l;a;ﬁ WImeneu ? |
(A) BHg &N - (B-) I;zﬂs&-'NHa_' |
© BH &NH,© ) BH, &N,

48, The formation of Hydrogen chlorlde derwatwe from borazme ‘and hydrochlonde is :

| method : o |
(A) Substitution S : vﬁ’ Addition
(C) Elimination I : (D) Polymerization. =

. Gurrué\sa @apLgmen @;Gmncm;r@ aﬁlwmqrﬂpg élam_a;@m engr_m_l;rgw @Gcrrrrmu'@ @I_IHGGIJL..Iq-,SU

wepulléd BLEGW. ' _ _
Ve u_@sﬁr_@ I - (B) G&r‘ré‘.aﬁ&
) rlf;é;a;d)' : - . . L - D) ueLguTsdD

LACH19 - . . Bt B y N



49.  The (/2 of C" is
M 5700 years s S (B) 4760 years
(C) 3500 years (D) 5300 years

asglrﬂu_jéaaa smiuen CH* —aflen sy eﬁr@eué; SMeLD
(A) . 5700 sy@m@dsar -~ (B) 4760 y@m@dser

(C) 3500 gyer@Hser (D) 5300 syamHaer

50. What is the basic principle in using a ligand in the complexometric titration in the

estimation of a metal ion, in which an indicator is used to identify the end point?
(A)  The ligand should not form a complex with the metal ion

(B) The ligand should form a complex with the same colour as the metal indicator

complex
: MThe ligand metal complex should be more stable than metal indicator complex

(D) The ligand metal complé;c should be less stable than metal indicator complex

@ ﬁmﬁ srligew uweau®sS smbuarsGavr Qo Ms e Grear Qewub Cung 2 LCWTE&S saigw

edsmen eriiugLiul L Gamogemns o (Heunés Ceuer(Hid

A) Ssrear’ aps @Qeaare Gsimwsmaub QaT[H&s salmg)

B) srar — 2 Cons sjwefl wHmL Hoibd 5Frl‘_llq_ - 2 Gons swel Cemomser @Cr BlmsgiL e
@més Geuair(Hid

©) amen — aG;surra; sjwafl Gaiwwb, Hpw sriy 2 Cars Jjwall Carosms sTiig@Ib .g);g‘,]é;
Hlevolig gjshsml.oul;ah Bm&s Ceua(Hb

D) damar - 2 Cors -@'IU_IGUﬂ G Hmd sy 2 Cors waell Cowvgms ol G@DPHS
BleneiiLg gshmeLe_in Qm&s GG‘UGEET@Lb

» 19 LACH/19
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51.

52.

53.

Find out the radio active element from the following :
(A) La (B) Ho

w” U | (D) Lu

sflwussssaneno Qanar saflwsms sarHilly
(A) La (B) Ho
© U (D) Lu

Lanthanide contraction is due to

(A) Poor shielding effect. of 3d electrons

(B)  Shielding effect of 3d electrons .
W Poor shielding effect of 4t: electrons

(D) Shielding effect of 4f electrons

OTHSMET(H GMSSLD 2 (HeuTeuZ)

(A)  3d eresgreaflen §rm')g) wenpUberred
(B) 3d eesigrafler fymen wenpUiGarmed
(C) 4f erevsl graflen Eymm wenmLiGenmed

(D) 4f Grmé;;_‘_mraﬂér &ymen wanpLIGGTT6D

Lanthanides are extracted from

(A) Limonite 6 Monazite

(C)  Magnetite AR (D) Calcite
mpsme(H S mps 9Ns05HEs0ILESaen
(A) Cwmenem : (B) Cuwrerenal.
(©) LDI'T&';G!TG\N_I._I ] (D) sro@sl

LACH/19 ' 20



54. -

A xNO, e

55.

56.

Which one is Indian Saltpetre?

() NaNO, - | (D)

Qemeupeuanauniley 61 @bSlwier Frai 1St

@) KNO, - 5 (B)

(©) NaNO, D)

The formula for Gypsurr; is

(&)  Cay(PO,), ' v
(©):  CaCQ; - _ (D)
flligsslen ppessam eumiiun(® .-

(A) Cay(PO,), = (B)

(©* CaCo, ] )

CaS0, - 2H,0
Ca(OH),

CaS0, - 2H,0
Ca(OH),

Among the following, which one is the mixed fertilizer?

(A) Urea
(B) , CAN (Calcium Ammonium Nitrate)
NPK

(D) Ammonium sulphate

eneumeuaaummMled 6T SeLIL| 2.7

A  whwr
(B) CAN
(C) NPK

@) (NH,),S0, <ibCuralub soGuL.

21

LACH/19
[Turn over



An equafion to find out the half-life period of a nucleus

BT,
0.692 : 0.693
(4) ’-1;2 = N d ‘1,-'2 = e
VA A
0.675 ) 0.670
C tyo = D) f0=
© = D) by ==
&I%ﬂl} QUMD ETSMGS GemidiL LLIGTUMD FeLIT(H
| 0.692 . 0.693
&) 51,:-; == B 4= B
0.675 : 0.670
C lyyp = —— Dy > =
© e P oy 4y P
58.  The alloys of lanthanides is called as
. ) Mish-metal (B) Actinides
(C) . Non-metal (D) Gun-metal
arbsman(pseflen o Canas swmen aucuny HmpssLUBEDS
(A)  Seiyg—o Caoraid B) sy menPadr
(C)  eCarsy Cuned (D) sei-2Cansb
59. The oxide whiéh is used for polishing glass
(AY) Beo (B) Ca0
)  La0, ®) ALO,
saTaTmig el GmGsHm LIUGTLIELD ySanau( arE?
(&) Beo (B) Ca0
(C) La 203 ’ (D) A1203
LACH/19 22



60.

61.

62.

The calculate spin only magnet‘ic momentum for the complex [Cl(NHg)ﬁ] Cl,

© 490 sy v 387 up

[Cr(NH, )(,] Cl, erenm Cemosden semsdl UL &MHS PH&ELD
(C) 490 up (D) 3.87 up

The limitations of valence bond theory of co-ordination complexes
(A) It could not explain the shapes of the complexes

(B) It could not explain the conductivity of solution of complexes

sﬁ It could not explain the spectral properties of complexes

(D) It could not explai.n the magnetic properties

Simaas Camomsamar eflersswafllugd UBT Qararanswiar ganun crener?
(A)  simaraé Cemorisaflar aulgauamwlienu sapapiyweildenc

(B) Cerwrsefler sL_5sIb Hnemarn danplgweiiioane

(C)  Hpwreme uamTLSMET Sapply weildemea

(D) s&MHs s Sap(plgeiieene:

The carbon of CO in metal carbonyls which are electron poor are susceptible to attack by
(A) Electrophiles m Nucleophiles
(C) Hydrocarbons (D) AlCl,

sl grer @@pearar 2 Gons sriCurafiie Geiromsefler drar CO swfed cdter C iam)
Spsa_cupPeT TEHE 2 LW |
(A) eres _Crmenueen B) HysaiCureucen

- (©)  ewant Gy sriuen Gaiomiser (D) AlICl,

23 c2p) LACH/19
- [Turn over



63.  Which of the following will be the scheme of hybridisation in [CoCl, [}~ ?

(A)  dsp® Ma;ﬁ

© spid ' (D) spd?

[CoCL, P erenp iemenray Geinngdér o erar Qemssoufand erg)?

(A)  dsp® B) sp?
(©) sp""d_ (D) spd*

64.  The ligand field strength of metal ions in presence of a particular ligand
Increases with increasing oxidation state :
(B) Decreases with increasing metal ion size
(C) Decreases with increasing oxidation state
(D) Increases with decreasing oxidation state

o GHLGLL Sarean. QméenCuns derar. SO@ 2pmd o CGors ewaluaiseie GTEUGUM) |
wrmdng :
A) sQnCatnm ararr @b Curg saBdng
(B) Sigen umweraTey Q;M@LbGQngj GV IES)
© %ajsaﬂg(ém;j)p erer 2 wW(HLGUTE Gandns
D) sealgCarnm creiT G@nywlung saHfpsg)

65.  Identify the scheme of hybridization in [Ni (CN), -

@ s ' v dsp?

©) sp'd® - (D) sp'd

[Ni (CN), P~ o drer eyl ré) Qe seoriQand oTg)?
@) - sp’ B) dsp®
© spid® - (D) spd

LACH/19 SIS | 24 | »



66.

67.

68.

: fl .
For a successful separation of an analyte by chromatographic technique the distribution

coefficient K, between stationary and mobile phase must be
(A) Kp=1
(B) . Kp should be very large

%" K, should be very low

D). Kp has no influence

@Ga‘_rr(ﬁmm'_l_ﬁm‘r& difluy enpdle Agefleurar AfGHE GidstiuL Cauamgw Camosdlear udliay
6T euT

A) Kp=1

B) K, dseyb ifswren wdHiiyL e §mss (Esuséﬂ@i.b

(C) K, Hsab @Gonbs wdlyar @) més Couar(Hibd

(D) Kperwdiy apg urdlemiiub o (meurssng)

Which of the following will behave as a super critical liquid at 30°C to 35?’0?

@) (GH, B) SO,

v’ co, . (D) H,0

Spasar_supmer erg 30°C-35°C fpps @uur Sfllgsd Srowrs Saupn
(A) CHy : (B) SO,
@ €o, (D) H,0

To make a super critical liquid gas like What should be done?
(A) Increase the density : (B) Decrease the temperature

WDecrease the density - (D) Increase the pressure

SPSETLCUDMIGT TeNDS Qaran® G GUUT AN s60 Bivsms Waab aumy saw Asrar_sns
LTHD (Plguyd - - :

(A) LTsHew 2 wirGHeusmed (B) Qautiugemns GenULSTD

(©) eLisdaw GopuusTD D) <iwsssms AHsMNlUSTD

25 ‘LACH/19
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)

69. The test used to reject an analytical data
(A) F-test

(B)  Chi-square test

M Q-test

(D) Standard deviation

em Ceudl ugLuTLeler (Wig.a smeT @FIEGSNE UWeTUBSSUUEW GLevl
(A) F-Quaevl |

(B) asguir@Quev

©) IQ-@l_Gifm_'-

D) evirmer il eelGuFer

70.  In size exclusion chromatography which type of molecules will have lower retention time and

hence comes out first.

« Larger molecules

(B) Smaller molecules
(C) Medium size molecules

(D)  Molecules with very high density

SEC @GrmGur_GLr flgm9uiier erpg aI@sWTET P& DIGEHEES G®DHS Re ‘U.|L'D ISR (APFHEHT
wsors QeuaflGuimib e

4) VsGuilu epaésmmiser
B) s Adlw @osﬁésangjasdT
©) pHssT u@mé&x ©_GITGI PLPEVEEn I SHET

D) SLTEH OGHS POEMEET

LACH/19 ; 26 i »



71.

T2.

The learning curve in analytical chemistry means the variation in the value. .

®B)
©)
(D)

The improvement in accuracy with succeeding trials
The variation between the volume of titrant and titrate
The variation between person to person

The variation between instrument to instrument

anmed Can@® eremug Coudulwe ugliumieie assamaw Caumur@amenT @mléEw

(A)
(B)
(©)

(D)

Bréssamiqw wHmb BrssLu@b Qurmearsaflar umweararela gHU@B L WIHDD

26y AEwIud eflgTaar LTHeSTED aiHLD WIHOLD

- 2 uCwrdlsslu B smedludléer wrHpwb

Homolytic fission of C — C bond leads to the formation of

(A)
(B)
(©)

Molecule
Carbanion

Carbonium ion

J Free radicals

sriue-ariruer salGenenT i Gen Cumrg fenL_LiLieaney

(A)
(B)
(©)

(D)

APOEEn M)
srrGueswimes
srrGureflwb owe

el 2 gL

27
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- 73.  In which compound addition reaction is not possible?
(&)  Acctaldehyde

(B) Proi:y.lene .

()] 'Aceto_phenone

" Methane

_ £§é§5e§n; ppedasn miaaticd, Grg_ﬂsu &tl:_@efl]ﬂ;ﬂﬂ émt.@umngj? K
@) S qenan®
B ' ypiuder
(C) O CLrSCeanmres

(D) \S5Czem

74. Formation of ethylene from 1, 2-dibromo ethylene is an exaln'lple.df
(A) substitution reaction

(B) addition reaction

M elimination reaction

(D}  rearrangement reaction

1, 2—mLuGU&Gmmm§@oSaﬂ_9&@§§|. argfelen Han_LiLig) rIcums oAenen?
A) LS A o |

B) s B Seven

©  Bés Ao

(D) @rwrhm Aevan

LACH/19 _ 28 - " »



75.

76.

How many hyper conjugation structures are possible for isopropyl carbonium ion?
@A) 4
B) 5

.

D) 7

gCaryCrmuemue sriCurafluw Swelllle assmear wdluy elmeniy elamere) BiawUILEE

Sl @D
@ 4
®B) .5
©) 6
D) 7

Ester having tertiary'élkyl group do not undergo hydrolysis due to
(A) Resonance effect ' ' ‘

(B)  Inductive effect

« Steric effect

(D) Hyper conjugation effect

apedlenent Ddemsd Azr@dHulenr BCrHm eflenear e Cuneugldame ghlararpmd

A sa_t.,e'ﬁﬂaw@ edeneray

" (B) gnmLm sﬁla)mm

- (C) Qanarafl_ elemarey

(D) =dur efenenriiy edleneray

29 ' LACH/19
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What is the shape of p-orbital?

-1

(A) spherical

7 (B) linear
% dumb-bell

(D)  oval

P-< T L medles suq.é.ub eTeIan ? -
(A) o (perenL

(B CpisCs®
(C) @rieoL Gamens sy

D) pre—

78. Wha£ is the least stable’carbanion?
(&) . CH; (MethyD
(B)I CCl, (Trichloro methyl)
(©) CH,CH, (Ethyl). ‘

\l( (CH,),C (Trimethyl)

Sipsae_aupilé ergl ss@G@NHS Elerlis Senn & e STTUTGTLITE
(A) CH, Quogfle>
(B) CCl, gavy @Gmn{:unﬁmg,ﬁa:u '
©)  CH,CH, a3
D) (CH,),C oo Gung

LACH/19 3 30



79.

80.

-~

Racemic mixture of lactic acid can rotate plane polarised light to

(A) right
(B) left

(C)  both sides

{ not affect the light

Gutréatq_éiu SiflwsHern Lflmis swema craucamawnen gaflé sRHmib ,seﬁmma)u_lés QarearLg)

A) ey
B Qg
(C) @rew® ussLD

(D) gdflsspdmbd saremwwnng)

Meso tartarice acid is optically inactive due to
(A) Absence of chiral carbon atoms .

(B) Do not rotate-the plane polarised light
M Presence of plane of symmetry

(D)  External compensation

BCsr LmiLmls siflen gaflapdmid geaamwunns q@éthg)ndJ

(A) @ mare STTLET IENSHET G)eena
B) - gafisspppb samw DD
©) .ijﬁenm,é;gemb Qamer(HeTeng)

D) Qaeflwring FEEAFLSD

31
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81. During asymmetric synthesis which one of the reagent is used
(A) optically inactive reagent
(B) oxidising agent

W optically active reagent

- (D)  reducing agent:

&renwo genepownm Carwgamg AsTEaEEn Cung ereucumawrer smyasiamwl LWL HESSOmD
(A) @éfﬂ SOOI siyewnf

B) sallnCanm syenfl

(©) qefl spompw asr;rsmﬂ-

D)  @bsEw sy

82. The reaction between alkyl halide and hydroxide ion is an example for
(A) Asymmetric synthes‘is
(B) Racemisation

(C)  Resolution

J Walden inversion

Epsaam_cundle erg omsd Canaa@Lar eanl_grés jwefl ellenarfleusn@ 2 gryemid
(A Erewvwpp Gsiob AsTEEs

B) sflmi smeNEEGHaD

©) Afsze _ . '

D) bl Spiused
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83. Alkenes show geometrical isomerism due to
(A) asymmetric carbon atoms
(B)  rotation around a single bond

J restricted rotation around a double bond

(D) rotation around a do_uble bond

Spaa_cupile e1g) és,,ei;&dﬁa;sh cuig.eu rHNlwSmsL Gumf)l@uugj)@la;rrqsmb
(A).  swérop é.rrfrudnese’rr

(B)  arruer-griuer gnepL GA@ariibe spHé)

(&) g;;rfﬁueiwa;nr’rueh @q@m;.g Yevemrubled snél gHuBeuflioena

(D)  ariuer-sriuer @rl e U Gementle spnél

84. The H-C-C bond angle in cyclohexane is

\A( 109°28’

B) 120°
(Cnv 115"
- (D) 108

m@a‘fu@gméﬂ&aﬂ@ H—C-C Garenr sjeTey

(A)  109°28
B) . 120°
(C) 115°
D)  108°
» . e 33 LACH/19
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1

85. - The compressibility factor ‘Z’, the extent to which a real gas deviates from ideal behaviour is*

givenby |
. “ -Z=%

© -zz%

.(D) Zz%

- @m&ss aryenf Z g Qardnh Guidny umygsar sy aunyssalldimhg dwdlé Cebams

elleTé@eugl » i
@ z=2

® ZzZ= %

© z=Zr

86. The pressure ‘p’ in the ideal gas equation is corrected as

@ v-b o \6p+a—'f‘
. v

(©y p+v: . (D) p-

BE0aS LI | eUTUF FLDETLITL.Iq 6 Bi(p&H1D ‘P’ Fifl Q&tim.lllll’.t@mgj

2

@ v-b L ® pe™
. . : v

: o ) - 2
©) p+v: | O p-5
. v
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" 87. Generally if we increase the temperature the rate of the reaction will be

(A) decrease.

: 6 increase

(C) same

(D) zero

Qautiugens 2 wirsgwCurg Qungieurs eSlemaruder Cousd
@)  eopdpg

B) 2widng

(©) wrHnBame

@) ygHuw

88.  The order of comphcated reactions are determmed by

( Ostwald’s isolation method

(B) Half life period
(C) Graphical method

(D) Integrated rate equations

fasenen allenansaflan cuansemw saTHGg&EWL WD
. (A) eveural saflewlu@ssuul L qpen

B) 7 6T sTOD

(C) aueruL qperp

(D) Qsr@ésiuul L Caudelenenser

» L1488
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-89.  What is the effect of conjugation on 4___ value?

J increases

(B) decreases

X

A{C) no éhange

(D) irregular change

geammel L C = C Mepemriy&ser A, m@ﬁjmu eTeueumm) UMA&Smg:?
@ sfahsdng

B)  eopdng

(C) wrmob Gdme -

D)  popwHD LIHHD

90.  The nuclear gy factor for proton is

(A) 1.7923
(B) 2.2634
(C) 1405

: J 5.585

Busaflun gy -angeflufen LHOY eranar?

(A) 1.7923
B 22634
€  1.405

D) 5585
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92

93.

Which one has greater 4, value?
(A) Ethylene
(B) . Acetylene

J Anthracene

(D) Benzene

Amax D&Y aﬁ&wm 2_Ger @eoa;.mcn;u eTE)?
A)  agdaden

B) sfilgeien

©  aypsirflen

(D) Quenen

Which element has the highest first ionization energy?

(A) Be B) B
© o w” N
THES SNOb 1Fs (Pse) Wl WTHEGD LMD 2 L UwIg)?
(&) Be P @)B

(&)= e) ' D) N

Which rule states that half filled and completely filled subshells are stable?
(A) Aufbau (B) Slater
(C) Pauli m Hund’s

arbs ellluflen epevd Lirdlwerey HlybGlw %I‘I’IQI_I_FT%)JLD ap(peugd HlybiSus .%ﬂ'lﬂpL.ng)_ﬂD Blenelig
seenLd QupHmETeng) eremm cuenTUmESLILHE DG ?

(A)  @suur (Aufbau) (B) &ACel L (Slater)
(©) umed (Pauli) (D) apven ev (Hund’s)

37 LACH/19
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94, ¢

_E’,‘_ - _‘E_ 2+ _ ) 3+
For, M(m?Mm) 7 > M, 7 > M)
1 2 4

Which is correct ?

(I, Ifg, I, are first, second.and third 1onisation potentials)
(A) L =1,=1,
(B) I <I,>1,

\Af 5<I,<lI

my I >I,<I,

e - e 9y € En

- M € oagze € age
M(L’) Ji > (&} I I (g} I /M(.i.’}
1 : 2 3

erenLiéd ez sfluineng?

(1, 1, I erémugy @;56’1), @J‘JG&&TL&LI) WwHHb epeprh Sweaflurggn égj,fj)ﬁ)@i})
N L=1, =1, '

® I <I,>I,

C <l <1

® L>I<I,

95.  An clement with atomic number 14 has how many S electron and P electrons

(A) 8s, Gp electrons

\(J 6s, 8p electrons

(C)  4s, 10p electrons
(D)  10s, 4p electrons

i T 14 2 dren gaflogdled arggeanar S whmb P erevslgrensdr Gma@Lio.
(A) 8s, 6p STRSLTeSET h
(B) 63, 8p sravsl_grensar

(Cy  4s, 10p erevslpranger

13)] 10s, 4p crav&l_grsimser
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96.

97

98.

What is the bond order for He, molecule?

A 2 ' B) 1

w7 o (D) 15

He, epasdaadler Senawrii] erawr eremen?
A 2 | B) 1
© o ' M) 15

In the report of analytical chexﬁistry PPM represents
No. of Milligrams in one liter of a solution

(B)  No. of grams in one liter of a solution

(C) No of kg in one liter of a solution

(D) No of meters in million meters

Caudilwe uGssHssi PPM eranug) ereng @ihladmg?

(A) 1L irsmrede Gmassyw sar@unmeflar darame W-srmiled @H&Sng
B) 1L smreada 2 drer sany@ummer Sateneu Symbdld Ghl&Smg

(©) 1L smysaied oarar sany Qurmeflen siereneu &.Symble Ghadlmg

D) e Bodlwer B M arssman BLLIT eratums @N&Sng

25 ml of Vinegar solution consumes 75 ml of 0.2 m NaOH. What is the morality of vinegar?
(A 6m (B) 3m :
0.6 m (D) 0.3m

LiHLoaHl u@i:urrﬁ'.mﬁls’u 25 ml of efefsen 75 ml 0.2 m NaOH <24 g@‘ﬁmwu@ggﬁu@é&ngj il
efafsflen Cuomemfl iy eranean? '
(A) 6m ; (B) 3m

(C) 06m . (D) 0.3m

39 LACH/19
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99, For one mole of a gas the kinetic énergy is given by -

1 . T
(© E,:-‘%RT : (D;/E:%RT ’

g(m Glomed mnusﬁl&r @u.lé;a: B DDE
o .

A =~RT B) E==RT
(A) > (B) 2
5 ' 3

(O E=-2-RT : g D) E=§RT
100. The mass of 2240 ml of N, on liquefaction will be

(A) 28¢g B) 14¢g

& 28¢g ' D) 0.14¢g

2240 Befl Ny aveu flyeu wrdgCung siger Hlen

(A) 28 4 (B) 144

(C) 284 ' M 0148
101. The SI unit of vander Waal's constant ‘a’ 1s

(A) Nm3¥mol 2 - (B) Nm®mol!

(C) NZm mol™* (Di/ Nm*mol 2

suraTLfr eumébaiv Lomfled ‘a’ e ST v

I(A) | Nm®mol? - B) Nmmol™!

©  N’m mol™ ' . (D) Nm%mol?
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102.

103.

Name the phenomenon of the scattering of light by the sol particles.
@ Tyndall effect

(B) Brownian movement

(C) Langmuir effect

(D) Einstein effect

Fa\DOF GIFETEET HLEGLD afigélgma Hlspeen Glu Wit
(A) igerL_meb eflenanay
(B) LiGlerefluier pamey

r

(C) el elenaray

(D) gemevieen eflenaray

A gas is heated at constant temperature. Then

(A) The no. of molecules of the gas increases

(B)  The kinetic energy of the gas molecules decreases

(CJ The kinetic energy of the gas molecules remains unaltered

(D)  The kinetic energy of the gas molecules increases

@ eury wrpr Qeuliu fleneuiier QaulLLUESSLILL LS. SLQurpsl
(A) - aumyeflen ppedsamsaficn crammenfléans <ifafsss)

(B)  aunueilen apessailen Quiss HnD GDDHSS

- (C) amy epesampsafien Guss pHme rHDLamLweddeame

D) amy passanseafiear Quis nnd daflsss

41

LACH/19
[Turn over



.104. How mény elements in the plane of symmetry?

A 13 : ' B) 3

of 9 D) 6

gar Sienoulle) arhsenan o LIS 2_dreTen?

&) 13 | ®) 3
© 9 : ; D) 6
105. Hexagonal is the having ———— symmetry.

17 e | : . (BW 7
(€10 | D) 3
SMBIGETaT LI ———— FeT ewwFensls QupmieTerg).
A): 1 o SUSa ¢ - S

© 9 (D) 3

106. The change in enthalpy that occurs when one mole of a solid crystalline substance is formed

from the gaseous ion
@M Lactic energy (B) = Born-Habber cyéle
(C) Ionic energy : (D) Crystalline energy

e Gomed L& Samouummer eumy Swefludall(mHg o (Heum@GbCurg gHu@L LHME WIHDHLD

(A uysssm[H BDHDD ] (B) unrer-gwriuT &Ho)

©)  swall ypme D) uys DD
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107.

" 108.

109.

»

For a orthorhombic crystal system, which is incorrect?

W azb#c ; _ (B)s g =b=c

(C) cor=p=y=0900 (D) None of these

25CaMCImMbI9s L& S@WLULEESE ShasaTL ag sflurer QUTBSSD Gomea?

(A) a=zb=zec ' (B) a=b#c

(®)) a=pF=y=90" D) eazmeydome

Which is adiabatic process?

@)  dg<0 et 1 (dq=o
(C) " dg>0 D) dg=w»

o1 Geuliuwmpr QEweapann?

(A dg<0 (B) dg=0

(C) dg>0 - D) dg==

H, +1, — 2HI. AH is equal to

A) . AE +2RT - - ; ' ( AE:

(C) AE -2RT (D) AE+RT

Hort s ——— 2HI AH &@ swwneng,

(A) AE +2RT eSB) A

©) AE -2RT (D) AE+RT
43
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110.. Which of the following always has a negative value?
(A)  heat of formation g heat of combustion

(C)  heat of reaction (D) heat of solution

SpsaaL erg eruCumgd erdlit wlemu Qupdl(meEh?

Q) omarsd Qalubd (B) eflger Qeuiuid
(C)  efenen Qeulsud (D) sepse Geulsub
111. Entropy is a measure of ————— of the molecules of the system..
(A) concentration (B) zig-zag motion
(C)  velocity . : d randoniness
) DL 2 drar epe&sansafien —————— sarsdlL arenGrma LweruREng).
(A) oLmey : (B) &8&-grs psiey
(C) HowsCeausd (D) RPEEHD HeEMLD

112. The molecularity of the decomposition of N,Oj5 is

v : - | ®) 1

(©):518 7. - D) 4
N,O5 SlangeueL b eSlenamudlen epevdga 6reir

A2 - ZEIAT
©) 3 _ D) 4
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113.  If the rate expression for a chemical reaction is Rate = K [A] [B]" =?

(A)  the order of reaction is 1 (B) the order of reaction is n

w the order of reactionis 1+ n - (D) K isindependent of temperature

@ Geud) elaanen eflmarGeauss swarur® elamarGeausd =K [A] [B]' =? aad®mpgre

(A) cfenamulen cuens 1 (B) o9emanlen cuens n

(C) ellewanulen cuens 1+ n - (D) K aeaug senafldamswuner Qeuliuflene

114. In the decomposition of Bromine Br, —2Br the molecularity of reaction is

%1 B) 2

(C) 1/2 (D) Zero

HCrmiflen Henssse eflenaruden Br, —2Br efenanufen ppeodsnmder creamaiEms
@y 10 B) 2
© 12 ‘ D) ygub

e The rate of reaction — % = KC" was proposed by
(A)  Ostwald - o Von't Hoft
(C) Arrehenius (D) Lindeman
: <y O e - ; : ;
aflemanudleir Gausd — e KC" e pgedled cr(HSSIMTSSH Wmi?
(A)  yevaimer (B) eunewmi sl
©) eradaflwen : D) e Guoe
» _ 45 LACH/19

[Turn over



116. Negative sign shows the concentratian of the reactant
~ (A) - increases decreases

(C) same (D) no change

aﬁﬁmmm'a@@@ Qmpsre efemearuGAunmefler Asbley
Q)  owifps _ i B) Eondpsg
C) - <Cghlaa D) wrpBaome

117. Match List I with List II and select the correct answer :
List I List II

(a) Sum of powers 1. Independent of concentration
(b) No. of reacting species 2.  Order of a reaction
() Complex reactions 3. Molecularity of a reaction
(d) Zero 4. More steps
(a) (b) (c) (d)
A, 1 e 3 4
@f 2 3 4 1
(C) 4 3 2 1
D). .3 1 4 2

@i Lauene | wHMID 2L euenent I1 & LweaTLRSS sflwrereupenn QUTHEEIS

L euenent | Si_Leueant 11
(@) wLhddr s GEAsmms 1. sLEUUESsHLLTS Qs
(b) elemeruBQummarsaiien arammanfisens 2. efleparuen cuans
(c) Gamoriser eflenar 35 3.  aflememullen epesaam)
d ymwod 4. ueUIgsET

@ - e @

A 1 2 3 4
B 2 3 4 1
© 4 3 2 1
®) 3 1 4 2
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118. The reference electrode is made from which of the following?

(A)  ZnCl, . (B) CuSO,
(©)  HgCl, - v Hg0,

Wemaumid ereupmme HiL Wlereum @3uhu.1£:um'.@eha‘rgj:?
(A) ZnCl, - (B) CuSO,
(C) HgCl, (D) Hg,Cl,

119.  The pH of a fruit juice is 3, the hydrogen ion concentration is molelit™! is

@ 1x107 . v 1:10°

© 2x10! M) 3x1072

@@ uwsstdlen pH wdluy 3 erafler, H” &uaﬂuﬂm-gegﬁlmm Glone AL @ EL L0 |
@A) 1x107 B) 1x107°

(C) 2x107! (D) 3x1072

120. The titration of ferrous ions (Fe2+) with ceric ions (Ce’”) is an example of

titration. :
w redox (B) Acid-Base
(C) precipitation (D) complexometric
@my Swefl (Fe2+) e Lan &fls swefl (Ce'“) STOUTTUILG ————————— FID UNTSSSHE @
2 STERTLD 2 '
A) salgCarnm -H&s , B) sbe -sry
(C) eSpugeurssd (D) Gsiwmseamése
» 47 LACH/19
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121. Which of the following is most acidic?

@A) Milk (B) Tea

(C) Coffee : " Soda

e euaauDHDIET 6rg s Siflssemeio Gunuu'r_%aggj
(A ume B) e
C) &ma . : (D) Csmn

122. In the determination of pH of a solution which among the following is not commonly used as

standard electrode?
(A)  the hydrogen electrode (B) the quinhydrone electrode
(C) the glass electrode 'J the calomel electrode

@@ soruurnaflar pH wdudEw Gurwps Geaeumeuaeupmer Curgers &L Weasowns
vweruBssUu Heudaena
(A) emanlygen Wlemeumi (B) @uler enamt Crmevr iletmeumis

(C) sewrantmg. Wereumi ' (D) sCamoed Wesmeuml

123. For a standard KCl solution that potential of the Calomel electrode is '
v o02415vt (B) 0.3338 volt
(C)  0.2800 volt (D) 0.280 volt

S QumrLrflub gCeatmeny® syl unsaﬂ@[é;@ &Gemoed Wlemeumudler ipsHSD
(A)  0.2415 volt (B) 0.3338 volt

(C)  0.2800 volt ; (D) 0.280 volt
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124

126.

The increasing order of energy difference involved in the transition is

A n-7 Ex-7<n—-0 <0-G B) n-z'<n-n'<o-c"'<n-0o

C o-0'<n-c" <mr-n'<n-z' M n-n<oc-oc'<n-c <r—x

@eLflenew Mg 2 Hne® goeuflaa Lig er(pgs

A n-z'<z-z'<n-o' <o~o" B) r-n'<n-nx'<c-0"<n-o’

© o-c'<n-c"<z-x'<n-x' M n-r'<o-c<n-c' <zx-n

The rotational constant value ‘B’ between HCN and DCN is found to

(A) Increase J Decrease

(C)  Nochange (D) Cannot be calculated

HON wipib DON epaéspsenie oL Gu spné wmhle ‘B-ar iy
@) sfsfedps B) ©»pdos
(C) wmob Pdere . (D) . sewmssl pyuwngy

Find out Raman active vibration in CO, molecule.
_ (A) Asymmetric stretching ‘ (B) Bending
\J Symmetric stretching (D) All the above

CO, epessmmse @rmoerflipwraauier idiey faLsEw Wpsa® aearear?

(A)  Srewwupn BUd oifiey (B)  aumasd 2fiay
(C) éSremwwnen S8 siflitey : D) Qe s@anggDd

49
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Write the correct decreasing order of stretching frequency

to
-3

M C-H>C-F>C-Cl>C-Br ® C-Br>C-Cl>C-F>C-H

(C) "C=H>C-F>C-Br >C-C. . @) C-Cl>C-Bl>0-F>C_H

B8 oiflitey erair syerellen sfluren @miiE culless Qgsm_mﬁ T(PEHIE. .

(A) C-H>C-F>C-Cl>C-Br B) C-Br>C-Cl>C-F>C-H

(C) C-H>C-F>C-Br >C-0Cl D) C-Cl>C-Br>C-F>C-H

128. Find the lowest electronic energy transition in CH, = CH, molecule.

LA eyt > A= J Tox

(C) o D) n-o>x

CH, = CH; epoésmble ghuBd Geanhs siarey SLHDED IHDLD 6TS)? '

@A) oo B z-ox

129. In NMR, how many signals are obtained for Toluene molecule?

sﬁz | (B) 8

3 | D)
2 L& &hs psHlaseiler QLreullern ppaésnndss Hen&@ sU0lEhameseT ereuauene?
(A) 2 . . B) 8

© 3 D) 1
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130.

131.

132.

The energy of one photon is calculated as

Q) E=mc* \4 E=hv

" (C) E=h/v (D) E=m/c*

em CurLraflen @hme ereuaurm sarsHL UG Eng?

A E=mc® (B) E=hv
©) . E=h/v: D) E=m/c*

Drug which act as analgesics and antipyretics is
(A)  Sulpha Drug ; . (B) Thiopental
Asprin _ (D) Phenacetin . /

el wpmb &7 Heumyeriluns LWETURLD WEHHS TS?
(A) sour wmHI B) @sCurQuen_reé

©)  avulen D) SQamdiger

Which drug is used to treat mental disorder and depression?
(A)  Anesthetic J Antidepressant
(C) Analgesics (D) Antiseptics

" e S(PHSSMS GDES LWTUBLD WHBHHE eremar QuuwiT?

(A)  LWES WLEHHS ‘ : (B) * wer &5 erdlim srenfl
(©) e Hleungenfl D) yeny Hleunyesfl
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133. Mendeleeff penodm table is arranged in
(A) Descending order of atomic weights M Ascending order of atomic weights
(C) Descending order of atomic numbers (D) Ascending order of atomic numbers
Queneits peudsen il Laiement DgT@GssILLL D
A) saflo Hleopuler @nrie auflasuiad A.(B) gaflw flevmuler gneuflansulie

(C) saflw aramenflen @i@eufamauien D) saflo aareflan gyeuflasude

134. Which element has high ionization potential?
(A) Na “B). Li

v 1

{CYETsIK

155 Heflb 2iHs weallursEb pHnad QaramrLg)?
(A) Na ®) Li
© K : (D) H

135.

Halogens have

(A) Infinity

values of electron affinity.

(B) Zero

©) Low o High
CanGamgenaar DIOTEY GTRGLJTE SHeuTmen m,ﬁﬁuqé& Qarer_emeu
A) @enSafiig (o) B) ygmwobd
© eops D) =fs
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136. Write the atomic number and electronic configuration of calcium. i -
(A))  Ca™ -1s? 28%9p" 85 3p% 345 (Ca”-, 1s% 252 2p® 3s% 3p® 4s°

.(C) Cals, 132 232 2p6 352 3p6 : (D) Caﬁl : 132 282 21’]6 332 3p3 3d3

&Sl eraimm SefloFSE DIGm) TRTERULD DISE CTOSLTTET BEMLILID CT(PGIS
(&) Ca?, 1s%2s2 2p® 3s% 3p° 342 (B) Ca?, 1s?2s? 2p® 3s? 3p° 4s?

(C): " Ca'® 15%2s%2p° 3s23p° (D) * Ca®, 1s* 2s® 2p°® 3s® 3p° 3d°

137. Which element has the largest atomic radius?

(A =B (B) Al

(©) Ga‘ '- | wf'rl

eTHG ﬁaﬂLﬁLb SFE DIE) 2,TID 2 ML WIG)?
L@ B B Al
(E)Ga e (D) T

138. Which element has the largest atomic radius?

A Li . . © .(B) Na

.MRb. | M) F

erhd Gesflold .alﬁa; a;dwq S D 2 DL WIE?
A) L (B Na
(€) Rb LR L D) F

» . 53 | LACH/19
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139. What is the shape of H,0 moleculé and give the bond angle.
«( V shaped, 104.5° (B) Trigonal, 120°

(C) Hexagonal, 120° . (D) Square planar, 90°

H,0 typevsanflen augaub ereten? oigen GenaaiiysGonamb o (g

(A)  Voeugeub, 104.5° (B) (p&Garampd, 120°

(C) elgjréJ(ESrrmTLb, 120° (D)  8FIr SwpaTD, a0°

140. © By what type of hybridization CiF; molecule is formed?
@A) sp® : _ ‘() sp’d

© sp’ @) sp¥d?

g cuans Qanasaliden epeod ClFy apodsmm 2 meurdlycrang?
A s’ o (B) spd

©  sp? . @) sp®d®

:141-_ B, (NH}y —2—>_? +_?

J 2BN + NH, S (B BN+ N,
B+ NH, | (D) BN+H,

B, (NH —— ? + 2

(A) 2BN+ NH, (B) BN+N,
(C) B+ NH, (D) BN+ H,
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142. When B - N attains diamond like structure, it has ————— co-ordination.
tetrahedral . (B) trigonal
(C) pentagonal - (D) pyramidal

© eLwerlenLy  Gumenm am@ﬁ;aﬂu (structure) QuEpwGureygy B Nib

Gaisenaemws Quong.
A) © pranapdl (B) @enmy Csmemribd
(C) grCsrard D) - QgH®H

143. Because of partial delocalization of 7 electrons in Boran hydride, the B — N bond is
(A)  short (B) equal
unequal - (D) long

r aes grafler uGH ureyseder sryerrons, Curyrer Ganenrigerm B — N Gevartiiy Berd
A ©leL (B) &sw Ty
(C) &L jaTay Qdame (D) Bembd

144. Whigh is the correct statement? ,
Boran nitride is unaffected by mineral acids
(B) Boran nitride reacts with mineral acids

(C) Boran nitride is a gas ;
(D)  Boran nitride is light weighted compound

sflwren sanm e1g)?
(A)  Gumyren epler® Biss Sfemsamd urdssiuadame
(B) Cumynen eoplemy(® Biss 2iblomiserme LTSHEsUHW
(©) Cumgmen evpLleny(® e eumy -
(D) Cumgren enpleny(® @Cavsrar g Caiowb

» ' 55 _ ' LACH/19
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145.

146.

147.

Si0}~ ion is —————— hybridized. -
A) sp® (B): sp

v o - ~ ®)  spd

Si0;” swefl —————— Qaiys Genarg.
A) - sp? - (B) sp
© s’ | D) sp’d

Which is not true about Talc?
(A) Electrically neutral

- (B) Itis soft and smooth

(C) o Has no cations in between them
It is chemically active

Lmebd Ul o awrenoudever aa;,r_r)gj argy)?

(A) WBergenenwouldier soflavewimarg

(B) Qugeurang W(mgeumeng

(C) e swelsmer Qe uld QsTeTeITSS)
(D) Cadelmanie Qswea Hpen B&sg

Pick out an example for artificial radio activity reaction.
2671 — 5 BMp + %e (B) -”GRa e 8521‘}1 + 3He

(©) 23“'1‘11 P2+ %e M- 231y = By

Qewhens sHMwss deansE aBs5168T g mar Caip0sH _
QA RS AlE——— M e @) 28°Ra'— > 22°Th +' tHe

(C) 234Th 234Pa + 919 . (D) 238U 234Th iy 2He
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" 148. An isotope used for Thyroid deficiency is
(A) 32 I) 131 I

© %Co © (D) ®Fe

@sTmU® Gepurligamer bés uweauBHiw HCarGLml
(A) ‘32P (B) ]311
© %Co ' D) *Fe

149. Radio isotope which is used to detect anemia
(“1\) 1131 . w Fe59
- (O Co® (D) Hg""

Q&5 Caramsaw savPul uwetu®b s8fMwss gCerCLrl org)?
()L (B) - Fe®
WCIRECo® (D) Hg"

150. Arrange the basic strength of Lanthanide hydroxides in its increasing order.
(A) Ce(OH),, Eu(OH),, La (OH);, Lu (OH),

" Lu(OH),, Eu(OH),, Ce(OH),, La (OHJ,
(C)  Eu(OH),, Ce(OH);, Lu(OH),, La (OH),
(D) - La (OH),, Ce(OH),;, Eu (OH);, Lu (OH),

Geraumd eorbgamar(® eapl grémsdsalar s cudlawaw gnuwssda aflasiudsss
(A)  Ce(OH),;, Eu(OH),;, La (OH), Lu (OH), '

(B) Lu(OH);, Eu (OH),, Ce(OH),, La (OH),

(C) Eu(OH);, Ce(OH);, Lu(OH),, La (OH),

(D) La(OH);, Ce(OH);, Eu(OH),, Lu (OH),

» _ ; 57 | LACH/19
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151. Among the following, which one is not the magic number?
(A) 8 ' (B 20
42 . Dy 50

e peuaneudMich 615 CLogdld erei @éuemeu’?
@ 8 o o B) 20
© 42 o D) 50

152. The following reaction belongs to which type of reaction ,N' +, He* —, O +, H'
&) np - | (B B.p | -

W o - ® e

196U (HLD FTUIM( 6THS cuensenit eNeneTemuF FMTHSE)
"N+, He® —, 07+ H' |
(A n,p _ (B A.p
© a,p D pp

153. Which among the following is not nitrogenecus fertilizer?
(A). Calcium ammonium nitrate '
(B) . Urea ‘ ' '

’ \M Super phosphate of lime

(D) Calcium cyanamide

Wssreu (HeuanauDbled eTa 6nb L Tmei BIVLTS 2 T
(A  aemflun é{th(?mrr@ﬁﬂuLb mpLGUL

B) whor

(8] @uuﬁ umevGUL FameTmby

(D) sréflule smaeannl
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154. The amount of nitrogen in air

A 25%

8%

STHOIQIETET b LFege @{mm
A 25%
C) 78%

(B)

(D)

(B)
(D)

42%

61%

42%

61%

155. Which of the followir}g is the balanced nutrient for plants?

(B)

(D)

Na, K, Ca

KPCa

Aereumeuameuniler reunmisEnse Cameauu®w sfeildls 568 erg?

(4) Ny, Oy, Hy

(C) NPK

156. Lossofa g particle is equal to

Loss of 1 neutron

W Loss of an electron

B siseT Quuy
A 1Hwgren @il

©) 1 eesigrear Qupliy

LIS (S FOLD

59

(B)

D)

B)
(D)

(B)
(D)

Na, K, Ca

KPCa

Increase of 1 proton

Both .(A) and (B)

1 yGymlmesr FHaliy

_ (A) wpmib (B) @ren@Cuo

LACH/19
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157. : Ide'ntify the ambidentate ligand among the following ligands.

Ay~ 1,05 (B) CH,NH, -CH, -NH,

\/Noé* b (D) H0

Spaa_ daren_safled c%bLbIQQI_GhTGt_L; aflsramenl e wrend s Ry
@A)e G075 (B) CH,NH, - CH, - NH,
(@) NO;, « - (D) Hy0

158.  The dissolution of solid silver chloride in aqueous media with excess of Cl~ ion is‘due to ;
(A)  the formation of [AgCl, [ (B) the formation of [AgCIl(H,0)]

"~ (C) the formation of [Ag(H,0)] d the formation of [AgCl,|

Aeveuit @Carmang® sawentiler oifls @Gmnmu® Sjweafl @m&Eh Curg samyeug)
@A) [AgCL P 2 @mandpgre (B) [AgCI(H,0)] e maurdlpsrad

©) [Ag(H,O) 2 meaurdnsre (D) [AgCl,[ a@mnﬁmgné

159.  The crystal field stabilization energy in [Cr(CN)['" is
(A) -0.4 A, : (B) 0.6 A,

A 16 AL | ®) 124,

[Cr(CN) I eramp simanay CamogHlen Hlaaliys s DO
A) 04 4, (B) 0.6 Ay,
(O T 6 A ) D) 1.2 A,
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160. In crystal field theory of complexes a neutral ligand is considered as
(A) A point negative charge
Negative end of the dipole directed towards the central atom
(C) The positive end of the dipole directed towards the central atom
(D) the neutral ligands are electron deficient

ffleveed - So@ Gsrarewsii® (CFT) @m phHle@e (neutral) - dlsmen’  ereuauimy
aHsgs0sTareruBHEng).

A)  em yeref adi syweafl

(B)  erdlmdlen qpanen enwow igmiameu Crradl @) méE b

©) .. Cpifler LG ewow Signme Crrédudmésh

(D) e@sigren Gmneurens)

161. Among the following which is not neither 7 — donor or 7 — acceptor?

@ B s,

(€) €O ‘ (D) PRy

Spsart_cupmier arg) 7 — AarGuUUTCant @idg 7 — a@uunGean Gdeme
&)  B; (B) NH,
©) €O " (D) PR;

162. The EAN of Mn in the carbonyl Mny (CO),, is 36 implies the bi nuclear complex has

& Metal-Metal bond
(B) © Metals atoms are connected through a CO bridge
(C) Metal atoms are connected by two CO bridges
(D) There is no metal-metal bond

Mn, (CO),, -6 EAN 36 5 @muiug Spsan_cupner arsmen GHédns)
(A) Mn-Mn @eenriiy
. (B)  @uan® Mn sigmiss@Esw @ CO urwssre QaarssuulBerarg
(C) @ran® Mn sigssEnd @ran® CO urasdamed @marssiuHereng)

(D) Mn oignsser YamamsaluLelldee

» 61 | LACH/19
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163. To estimate an analyte by gravimetric which of the following is not a condition?
(A) The analyte should give insoluble precipitate
(B)  The precipitate should be converted into reliable weighing form ;
(C) 4 The impurities should be soluble in the solvent in which the precipitate is insoluble
J The analyte should be ins‘oluble_in any solvent

aSpugeursd HiremlluugHE SPaETLUDMIET 6T8 @ HLLTULOTETS)
Q) Premdsstiu@n Qurmer @ e Ligausms 2 @66 CauamHib
B) apugebd em sES aurlinbs Qur@ents wrm CeuaTB
(©) wrasser ipuigeud s®TWTE seTLLITElD sanw CouaHb
- (D) Hiremulsstu@o Qur@mer erhg sempuuraflgib smrws saL g *

164.  To generate SO} for precipitating an analyte from a homogeneous solution. Which of the
precipitant will you use?
(A) Na,SO, (B) H,SO0,
(CH,),S0, (D) CaSO,

SO apugeunainss o (eurss Spsam_apner aras e LCLITELRSHIULI?
(A) Na2304 3 (B) sto,i
(C)  (CHy),S0, ; - (D) CaSO,

165. In the complexometric titrometic estimation of Ca®" which of the following are used as -

titrant?
(A) H,C,0, \/ EDTA

(C) H,PO, - : (D) H,S0,

smuersGam Gl s umper U@ubnu'm‘ilé: Ca®* firamnuusnE LweaTuPbL soTFD Qumrer erg)?
A)  H,C,0, (B) EDTA
(€ H,PO, (D) H,SO,
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166. - The gels used to separate organic analytes by Size Exclusion Chromatograph (SEC)
(A) Polysaccharide dextran
M Polystyrenedivinyl benzene
(C)  Polystyrene sulphonic acid
(D) Polystyrene

sl Ceud QummLsener SEC @Gmg)u;‘n}eb Wf50sHLLSHE LweTuHLD LTeSlor 6rg?
(A)  unellensseny® CL&evL_rmer

B) unrdllevenLffenenL elleneey Quenen

(C) umdeven e saoCGureails idleid

(D) umedlevent_fFem

167.  The agents used to separate Zn®* and Mn?' in qualitative analysis
= d HCI + H,0, (B) HCI + SnCl,

(C) HCl+ NH,OH (D) HCIl+NaOH

uELUD S iedle Zn** LHMID Mn*" suweflsmer 9Mss LweruBw QurmLseT wreneu?
(A) HCI + H,0, (B) HCI + SnCl,
(C) HCl+NH,OH . (D) HCl+NaOH

168. The masking agent used to separate Cu®* and Cd* in qualitative analysis
(A H,S ; (B) K;[Fe(CN)]
(/ KCN (D) K,[Fe(CN),]

Cu** wpgo Cd* IASHAW sEUUTETS LWETLEDL QUTHET
(4 H,S (B) K;[Fe(CN)]

(C) KCN (D) K,[Fe(CN),]

» 68 . LACH/19
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169. The separation of a racemic mixture into its two optically active components is known as

% Resolution

(B) Racemisation .
(C)  Asymmetric synthesis

(D) Tautomerism

sPlomi seaeuudladlmbg gallswhmib genemwwerer wrhdlursarnat AALUSDHE@
A AGfsse

(B), . sflomi someuwns@se

©) ﬁ_{'reﬁmu.lmm sniLen Signssmas Asnan Cenonsmas As1Es5w

(D)  wrhdlwb

170. Which one of the compound undergo Walder inversion?

(A) Alkyl cyanide Ly .
¢( Alkyl halide |

(C) Alcohol

(D) Acid

SpsaTLaunile) ehs euamswnear Cemogdd G}Jrl‘s'l)l_@‘l_;ﬂ@l:ll-_lﬁd) perLQumdlmg)?
(A)  pv@se Fweamer(h . -
B) msd Capea®

©) osanTed

D) fewd
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171. Homolytic fission of covalent bond between carbon atoms will produce
(A)  Carbonium ion and Carbanion
(B) Two carbonium ions

(C) Two molecules

.' J Two free radicals
a;rrr"ruéT-a;rrﬁuéT ssLnenanroSie Synean Gleney 2 drLrEb Cungs SmuUuamay
(A) srureiiwb Ln,lj)g;]ft; 5n:s'r(2umu.urdu_
B) @ran® smirGuanure ailsdr
© @ryﬁinr@ P& ST

D) @rein® saf e priiser

172. In addition reactioﬁ, how many new sigma bonds are formed?

(&) one

! two
(©) three J
®)  four

&L (heflenamudicd qsgmm yHw Sdwor GenerTuLgear e HINSDg?

A) oy
®  @rend "
©) opam
D preag
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173. In which compound nucleophilic substitution take place readily under SN1 mechanism?
(A)  Methyl chloride -
(B) Ethyl chloride
©) Dimethyl chloride
J Trimethyl chloride

&pssam_eupper add SN1 feoaanfl acligns peo._Quuyn?
@) Guifs gGamenrd -

B) agfe gCeamerrH

© @ QusHdeCamor

D) yeorQwids glamamr®

174, Mesomeris effect involves interaction between
(A) sigma bond o |
ﬁ pi borid and Ione pair of electrons
(O sigﬁ:la bond an;l lone pair of electrons
(D) lone pair of electrons

e Lafimsay dlenarey arsp@ Pan 19 pen Quulpg?

tA)  Séwor Denawriin

®  ou Geaniiy wppib pah arbi grer G
(O i Geestiiy wppid Sef cradgrer S)anent

D) seaf ceét_grer @anewr
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175.

176.

177.

By which effect alkyl carbonium ions are stﬁbiliaed?
(4) Inductive effect

(BY Sterieffect

(C) Resonance effect

M Hyper conjugation effect

o5 cllenareuns) goenad arrCGuneaiiuh Hwellser 'ﬂmuq geranowrdmg?
(A) gretmL ellenarey ) '

(B) _ G&rréi‘raﬂl_ cllenemay -

C) wiafmsey dlenatay

D) sPurdmeniy dmaray

What is the bond length of Carbon-Carbon triple bond?
(&) 1.02A° - v 124
©) 154A° o D) 134A°

sirueT- s apeng Gewanbién (apUnlaramiden) Geramoy o erg?
A) 1.02A° | ' B) 12A°

(©) 154A° ‘ (D) 1.34A°

The geometry of methane molecule is .- -

(A) Linear ) (B) Planar
(C) Trigonal J Tetrahedral
5§G§d1 epandes et ignpiiLy
(A)  CersQsn(d (B) &sogemd
(C) qp&Canegrid . (D) prenapdl
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178. How many hyperconjugation structures stabilise the ethyl carbonium ion? '

(A) two
A thres
(C): - ax
(D) four

asfleo amCuraflubd Swelleow assmar @aplur  sTEEECsagET  SiE@LLULSETTD)

feratiu@ssinbing?
A) Qreanl

B) epery

© e

D) prean

179. Water is an example for?
(A) Electrophile
(B) Free radical

: \M Nucleophile

(D) Neutral reagent

B, EpsaaT_cunh aTHHE 2 FryerTnd?
(A) eresgmen seurm syewfl

B) saflemiy

©€) smésasrenfl

(D) pHHme syenfl
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+ 180. Meso-tartaric acid is
(A) Sometimes op_tically inactive .
d -Always optic.ally inactive
O Someﬁ_mes optiéally active -

(D)  Always optically active

LSG&nl_rfernrﬂé; Sl

A Qé@muﬁ@@ gefl &Qmm_ﬂggmmm &mi;mg
B) G Tgib afl SEOPTS emento 2 L wg -
©  AaGprshe pel spipod |

M)  eruCungb gafl SWhHmyDd

' 181.'I What is the. possible number of 6ptica1 isomers for a compound containing n dissixﬁi_lar

- asymmetric carbon atoms?

T

® n?
(C) n+l

DYy n+2

@@ Goingder QaciGamwrar n eard smudsd REHsTH afgmen gafl FPOHID @Camoimar

Bose0
@ 2
_(B)I n
© . n+l
@ n+2
C» I | 69'_'-' " LACHN9
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182. In R-S notation, the atoms attached to asymmetric carbon atom is based on its

\6 Atomic number

(B) Mass number
(C) Atomic weight

(D) Molecular weight

RS aga ewvulde, SFiewvwpn sruais @menbgdae oanssar a@sl QurmSs)

Qea@rssiiu_Hara?
A) gy e
B) Heop e
C) sigmaarL

(D) epessam erenL

183. Asymmetric synthesis give an
- optically active compound
(B) optically inactive compound
(C) meso compound

(D) racemic mixture

Sirenwo gerawwpp Coivsmss AsTELULSTS HeLliug)
A) gafl sppmw Garwid

B) gafl spoor Gairwd

(C) (5Gsnm Gsimow

D) sfwmi sweeu
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‘ 184. The cis form, the atoms attached to the carbon carbon double bond are

185.

A)
B)

on the opposite direction

not on the opﬁosite direction

M on the same direction

)

not on the same direction

e wrpPusHe smruem-amuen Gyl an s Q_mswrui.‘lld) Dompgaiar GFS DIgHesET Ty

elmmjﬁﬁ@és@m

B  ar-agi Heosde

(B)  afi-arfir Hensdes Gebarmine
(©)  ¢Grdasuia

® |

gCGr Hasuier @owmoe

*Which is liquefied in faraday method?

(A)
B)

@)

H»
Ns

JNO -

02

g umGL. apenpulcd f)&mmn&sﬁu@ﬁmg-?

)
®)

€
- (D)

H:
Nz
NO
02

‘71
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186. Pressure-Temperature law called as :
(A) = Avogadro’s law (B) Charles law
(C) Boyle’s law A Gay Lussac’s law

2(&3w0-beuiuflene el sTar DemssiILH S
A)  auCsmigr el (B) snireav ol
©) umldev 98 (D) Gs guens aflg)

187. The mass of 2240 ml of CO2 at NTP will be

A) 40g v 14g

(C) 88g (D) 80¢g

NTP -& o_drar 2240 1869 CO2 - Hlevp
A) 404 . (B) 444
(©) 884 D) 804

188. The unit of rate constant for zero order reaction is?
(A) litre sec!

(B) . litre mole! sec-‘v
‘J mole litre-! sec-!

(D) mole sec?

LW euans eileander oie@E s
(A) e&lium Q;_f,mq.'l

B) S Guored” Qpmg”

(C) Gumeé i Q g
(D) Guome Apmg
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189. Zn - Zn* +2¢7, E° =+0.76V
Cr®* +3e” » Cr, E° =-0.74V

The anode in this cell is

A

€ Zn*

Zn — Zn?* +2¢", E* = +0.76V
Cr** +3¢e- » Cr, E° =-0.74V

@55 Beanswsdle Comdereumis 6Tg)
A) Zn

© Zn*

190. For acidic solﬁtion
(4) - [H']=[0H"]
‘A [H*]>[OH"]
(©) [H']<[OH7]
®) [H']=107

S SOTEES

(4 [H']=[0OH] .
(B [H']>[0H7]

© MHl< [OH"]

@) [H]=10"

- ®
D)

- (B)

)

Cr

Cr3+

Cr

Cr3+

LACH/19
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191. Splitting of energy level in applied magnetic field is called as

(A) crompton effect

w Zeeman effect

(C)  Bohr effect

(D) Photo electric effect

&SMHS USEHE 24HMmed o Liiser Gfens SDLUMS Famb edleneray
(A) : SymbLen eflenerey

(B) é&wen eflenerey

(C) Gun elenemay

D) SCurCGLmben eSlenerey

192. Energy of one photon is expressed by

(A) Einstein equation

J Planck’s equation

(C) Debye equation .

(D)  Guri equation

e Gur_Lraflear gy pmee ellaréEh swearur® érgj?
A) genevee sweuT®

B) wvemmiev FweTUTH

©C) 1e-eu swenuT(®

D) Ay swerur®
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193, In a period from left to right, the nuclear charge -

194.

4
. B

(€

decreases, decreases

increases, decreases

decreases, increases

( increases, increases

e Ogrfds @L(mbs euwns a;t;so_r, Sl ey

Give the name and symbol of the element having

- and the ionization energy

2HOS |

- (A endpg. (gaizoﬁwg

- B) sfsoréipgy, ceopipg
© @epdny. sswrépg
D)  sdaoripg, sfsordps

1s*25*2p®35°3p% 45"
(A . Sodium, Na
Potassium, K
(C) Calcium, Ca
(D) Copper, Cu

Cugyb Swueflurggn

electronic configuration, -

"1522522p° 852 8p%45! adnp awELgmd Smwi@mus Astare selvsddr Auumbd, SHYGDL

TPEIS.
(A) Gsmguid, Na
B GQuriinfwd, K
| © srofuwp, Ca
> , .

srour, Cu

75
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195. Which of the chelating agent is preseni: in the hemoglobin in bleod?
(A EDTA | (B) Ethylene diamine

© C0¢ ) & Phomhyrin

Brss686 e drer afGorgCamieate 2 drer ECoL g aagenl erg|
{A) EDTA {B) Ethyiene diamine
) C,0F - (D) Phorphyrin |

196. Which of the foiloyving is an amlbidentat;e ligand?
" (A) PPh, (B) bPy

() Phen ,A NC5

&psam_aupger ergl KAGLCLL mefl
(A) PPh, (B) bPy
(©) Phen | (D) NCs

197. Higher ca-ordination number complexes are possible with central atom or ion belonging to

which type of elements?
&) sblock A f-block

(C)  d-block (D) p-block
<ida Glaana cTar 2 orem GananTeys CHTDRISMET CTAICIRSWINTGH GHIOII DIGRYESET 2 (HeUMEELD
@)  sQpred . ® fOsred

(©) d-Qsrsd (D) p-AsTEA
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198.

199.

200.

Which pair is not having diagonal relation? _
(A) Li—-Mg (B) Be-Al
W Be-Si - (D) B-Si
ahs Cymy geflwmisdar e wnrGareaned 2 ey @aorgameu?
4) Li-Mg (B) Be-Al
(C) Be-Si ; (D) B-Si
Which is a metal?
(A Br . ®B) O
(©) Ne -  He
a8 @ 2 Cansb?
(A) Br B O
(© Ne (D) Hg
Which one of the following species is not isoelectronic with neon?
A Mg* (B) Na’
@ o . v cr
SpeumeuaaupmieT erg Hwirafllen @& aTsL_rren Siamwliemus Qaramg mbsalaamea?
@  Mg* (B) Na'
@0 (D) CI
77
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